
Travail pour la semaine 10 du ………………… au ………………. 

Pour le …………………………………………………. 

a- 2 5,32 b- 10,3 c- 1,312 

d- 0,3 e- 0,31 f- 147,3456 
 

Pour le …………………………………………………. 
 

1.  

14,589 = (1  10) + (4  1) + (5  0,1) + (8  0,01) + (9  0,001) 

2.  

a- (8  10) + (2  0,1) = 80,2   

b- (3  1) + (5  0,001) = 3,005 
 

Pour le …………………………………………………. 
 
 

4,5 m           450 cm = 4,50 m            45 dam= 450 m              0,004 5 km = 4,5 m 

C’est donc 45 dam l’intrus. 

 

Pour le …………………………………………………. 
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4ème figure : on ne peut pas car les parts  

ne sont pas égales. 

 

 

 


